ERICO

INSTALLATION INSTRUCTIONS

Strut Nuts
NUT, NUTC
SPRA, SPRC, SPRD
SPREM
TSNC, TSNT
Fastener Required
Size Torque
H8-32 17=
410-24 26*% S
| | PO
| 5/16™-14 132%
3B"-1h 19
716714 24
172-13 50
SR 0
| 34-10 il
| T80 A0

* Yalues are in inch/lb units. All testenzrs

above 5/16™ arg in foot/lb units.

This product provides a maans to fasten

FEATLIRLS / NOTES

various products to ERISTRUT Strut Channal,

NOTE! Install strut nuts and tizghten as noted in

torque table. Ensure that mstallation is o

complianze with poverning codes.

Resistance to slip

HUT, HUTG

wilioul spring

SPFA, SFRC. SPRM
Wih bomam spring

TENG, TENT
Wit L epring

SHHM
AflF threaced slud

£ e 12 GA Channel 14 G348 Chamneal 16 CA Chanrel

Size Par Number Channel Size = = = = = :
3-32 | HUT.NUTC. SPRA.SPRC.SFRD | A B, 0, E, M 56 220 50 220 50 z20
10-24 | NUT, NUTG. SPRA, SPRC. SPRD | A, B, C, D, E, M 100 440 100 490 100 440
10-32 | NUT, NUTG, SPRA, SPRC.SPRD | A, B, C, D, E, M 102 440 100 410 100 440
174-20 | KUT, NUTC, Bllf'rlzl;_i_EPFw.EFHD : A, B.C.DE M 300 133 00 1530 200 1400

5M618| NUT,NUTC SPRA SPFC BPRC | A.D.C,D.E. M | 250 | 2000 | 450 | 2000 | 480 | 2000
Are-15 | NUT, NUTG, B“FI.ATEPHG. SFRD | A,B,C.D,E M | &800 3530 800 3560 EOD a5a0

¥ TSN
7Me-14| HUT, HUTC, SPRA SPFC. SPRC | A,B, G, D, E M | 1000 40 800 ASE0 EOD ak3n .
if2.13 | ®UT NUTE, 35FA SPAC, SPRD A, B, G, M 1500 BETO 1000 4450 1000 2450
TSNT

Bra-11 NUT, MUTC, SFRA SPRG, SPRO b, E 1800 BET 1000 4450 1000 445
2r3-10 | NUT, NUTC, SFRA, SPRC, SFARD ABCM 1500 6670 1000 4450 1000 4450
7i6-6 | HUT, NUTG, SPRA SPNG, SPRD 0.E 1500 G670 10040 $4E0 1000 4480

" Hated loads are for channel nuts with PL, EG, CG finish codes only.
54, 56 and HU finishes zre non-load rated,

mw

2000 ERICO INC.

‘Lechnical Support
(RO0) 25-CADDY

CFS307A Pg. 1 of 2 Printed in U.S.A. (800 252-2329



Pullout Strengths”

Size Part Number Channel Siza 12 GA Channel 14 GA Cranncl 1€ GA Channal
S Lh. e LE. | LB M
B-32 | MUT, NUTC, SPRA, SFRC,SPFDP | A D.C. D.E. M 200 290 200 830 200 890
10-24 | HUT, NUTC, SPR#, SPRAC,SPFD | A B,C,D,E, M 250 1710 2500 | 1110 250 1110
10-32 | NUT, NJUTC, SPR, SPAC, SPED | A B,C, D, E, M 250 1110 250 1110 250 1110
a2y | NuT NuTG, $1F_~Eﬂr.:,rsf-ﬁc_ sPHD | A B,C,D.E. M 450 £000 450 | 2000 450 2000
EM6-18| NUT, NUTC, SPRA, SFRC, SPFD | A B, 0.D.E M 750 3330 750 3330 750 3350
318-15 | MUT, NUTC, ETFQP.T.TBPHG. SPAC | AB.C,DLF M | 1100 4890 1000 4450 1000 4450
71€-14| NUT, NUTGC, 3PRA, 8PRC,SPAD | A, B,C,0,5, M | 1500 BETD 1200 5340 1260 4450
17218 | NUT, NUTC, 52, SPAC, SPR2 AB.C,M | 2000 | pooo | 1400 | e2se | oo | 4as0
5 .
/218 | NUT, NUTZ, S;I.";LN“.-I.E"F‘“- SFHD D.E 1500 | 5670 1400 A250 1000 4450
B/B-11 | NUT MUTG, SFRA, SPFC, EPRD 2.8, C. W 2000 ASOn 1400 6230 1000 4430
5/8-11 | MNUT. NUTGC, SFRA SPFG. SPRD 0,E 1500 BETD 1900 6230 1000 4450
4410 | NUT NUTC. SPRA SPRC, 5PRD A8 C K 2000 AU 1400 6230 | 1000 4450
3/d-10 | NUT, NUTG, SFRA, SPRG, SPRD L, E 1500 BETO 1400 i 6230 1000 4480
7/8-9 | NUT NUTC, SPRA SPRC,SPRC | A B,G.M | 2000 | agoo | taco | e230 | 1000 | =450
7/8-9 | NUT, NUTC, EPRA SPAC, SPRC BLE 1800 8570 1400 5230 1000 24350

" Rated loade are for channel nute with PL, EG. GG finish codas anly.
S£, 58 and HD finishes arc non-load rated,

WARNING:

1 All mre supports, hanzers, interovediats compousts and st el s el must ONLT be veed t sppon pipe, thing ar conchilt 28 2iared a3rein sal
#r2 WEVER 1o he used for any athzr o

1 Al pipa suppert: amd hanpers ore desigred DMLY for ETATIOMARY pipinz unleaz efhernisc noted

3 Al supports, hanpers, clamps and acoessodics shuwn erz o uss Lag s (o Jaen nuts) on g leng=r rod a0d ©ghrened seeurely ro a851me [ronee
perfmance.

1 FIRE PROTECTION: Follow secuiseraanis of the Maticnal Fire Frotection Assce., MEFA pamphlzza 10, 02, 15, 14, 12, 1€, 17 and Fackory Mutuzl Propety
Loas Frevencion Dita Sheet Moo 2-8H.

3 Fastemzrz wuesl be used unly in the marner depictsd in te illnsradons thar azeompsany i0 a0 minsn nad exceed statie Inad ~stings.

5 Fastenars aré designec Zor use wath o varaty, of incustry ctandand building macerizlz, etrwctusal shapes and meshanioal components. For the fastznce o work
proparly, these itcna must mect the appropriatc ndusry standards, (esample: AMSL AISC. AISD

7 The Luver sebor iosialler is respensible o

3. Applicatios ¢ confery anee b lasal codes,

k. The: etzgrity of struchures so which the fastemers are attached, melucing their capanlity of salely avespting (e s iopused, o evaluaed by a
vali fi=d engringer.

v Thsing sppropriate ndusmy standard herdwars a2 neted aboisa,

| Failure tc observe t1ese speafications mary envac produc: valfiretion resultmg in propery damage or bodily injure. ERICC 2ocducts a1 i e uf
shpuicir, 2 waauted o osenlioe ooy applicados witzn deserixdon furmizhed o the Faner by ERICT and wn he free frivm defesis i materal sne
weorkmanskiz NCGOTHER WARRAN [y, Wik [HlE LXFRESSED OR IMPCIED, (INCLUDING ANY WARRANTY OF MERCHANT- ABILITY OR
FITHESS), SHALL EXIET [N COMNECTION WITH TIIE SALE Of USE OF ANY ERICT PRODLCT

SAPELY INSFRLCIIONS: AN satety regulstions requred at the job site must ba observed, Speoia. attention shou'c be given to the fel cwing instructions
While working or on the job zite
1. Qe all Federal and lovel salicly iogulal un s,
3 Wear eafety gdagse; with side chields.
3, Be awars of persoral woddng nzove and bel o,

m‘n

22000 ERICO [MT,

o W zur o beard hi.

3 Wedr ploves to gvand splinters and 2uie.

G When workmg ebove gronmd bevz . be sure the suciue
will suppoms yomr welghr -

M Technizal Support

(8007 25-CADDY

CFS307A Pg. 2of2 Printed in U.S.A. (800) 252-2339



